PROFESSIONAL EXAMINATION
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Topic:- Child Development & Pedagogy (CDP)

1) The distribution of intelligence is not among all human beings./ Tt 'Flﬂuﬁ & aaﬁl', g@ Cal
faazor T8 31

1. Moderate / HHH
2. Equal / JHIA

3. Appropriate / SYYdd
4. Same / Uh aﬂT

Correct Answer :-

o Equal / HHIT

2) The primary focus of a formative Assessment for learning should be: / 3{TSRTH & foe e uRfie
ipe BT WA <0 g1 A1fee:

1. checking the classroom presence of the child / g B Gl | IufRyfa ot Gﬁ%{ DT
2. checking memorizing skills / THXUT e PN B S HRAT
3. help in improving writing skills / G Al Bl ﬁw T Agg oAl

4, understanding the gaps in learning / ST | 3iaRTd B NEERI

Correct Answer :-

« understanding the gaps in learning / ST | SiaRTd P BEERI

3) Mohan is a 13-year-old 9t class student with a mental age of 16. What

type of child is he based on his IQ scores? / 'Fﬁﬁ 13 aﬁqﬁé’fﬁ&nmw%, et Al 3Tg16
21 98 3UA gfS TR & YR R {59 yoR &1 3= 32

1. Imbecile /H:@ctﬂtl?

2. Genius/?lﬁ‘l-ﬂaﬁ

3. Above average / ATIT IR
4. Superior /aﬁg

Correct Answer :-



« Superior /aﬁg

4) What is the Freudian stage of psychosexual development in which children are toilet trained known as? /

ﬂﬁ?ﬁwmﬁm%mﬁwwm%ﬁwﬁﬁaﬁ&ﬁa%ﬁmmﬁm
ST 82

1. Latency / 3{TaadTaRT (TIe )
2. Phallic / oI TeTTaRAT (Wfeetan)

3. Oral / JETART (3fIRe)
4. Anal / T[GTGRIT (T)

Correct Answer :-

« Anal / TJQIARIT (UcT)

5) What is Progressive Education? / yrfasiia ﬁT&‘IT T %?

1. It has standardized testing / sﬂﬁ Wﬁ tlﬂ&‘l'UT 33[?‘” %l

2. It is Learning by doing / S0 Bd gU R (@f a8 85m) BT ]
3. It is data-driven learning / ST Sel-3eTRa fram g g1

4. 1t has standards-based curriculum / STH HTAH] U TR UTeThH BT 2|

Correct Answer :-

o Itis Learning by doing/sﬂﬁwgﬁf STy (ﬁﬁﬂmgm EPIHT%I

6) is called maturation. / & gigedr Dl SIldl %I
1. Family intervention / UTﬁHTW gweﬁu

2. A change due to cultural influences / T THTAT & HRUT TP URA

3. Natural biological development / WIS a Sifdes faemT

4. Change due to environmental pressures / tl'q'hTUﬂU a‘m?:ﬁ & HRUT tlﬁa?h

Correct Answer :-

« Natural biological development / Wﬁ?ﬁ Sfaew faswma

7) study is applied to study in which some of the individuals have been measured on at least two
successive occasions / YT B AN HIA P o0 reaa foran oimar 8, o @ 59
HfFaal B U A $U & TR GERT IR JTUT 14T 21

1. Extended Longitudinal Method /ﬁm Hﬂ%ﬁg@
2. Longitudinal growth/ &lﬁﬁﬁq%

3. Cross Longitudinal Method/ 19 \’rﬂ"-ﬂ"'ﬁ'q fapr

4. Mixed longitudinal/ farfsra &la%‘a:f



Correct Answer :-

« Mixed longitudinal/ fH3@ &ﬂ%‘a—‘f

8) The main objective of ADIP scheme is to provide to persons with locomotor disability. /Qﬁéﬂéﬂ

T T YT IE Y, AP HICR G ad AR 1 UM AT 2|
1. Disability certificate / feiTTar yHTorA

2. Employment / CUSIEY

3. Education / fR1&T

4. Aids and Appliances / g% 3R JUHRT

Correct Answer :-

« Aids and Appliances / S8 3R JUBT

9) The three major themes in Vygotsky’s Social Development Theory are: / ?ﬂyﬁmﬁ & qHToS
faeT frgia ¥ 9 yge fawa §:
1. Cognitive Apprenticeship, Social Interaction and Reciprocal Determinism. / ST ® QﬁT@gl‘Tﬂ RIGISED

JeHITar 3R UREWRe RuRuae

2. Cognitive Apprenticeship, Legitimate Peripheral Participation, The Zone of Proximal Development. /

TS URRregar, a9 uivefig yriier, geiuey faewm &1 &=
3. Reciprocal Determinism, Reward and Punishment, Classical Conditioning. / Wﬁﬂw EhT\‘TIB:[

3R &S, AR 3o (RATRIebd e i)

4. Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / BICISEY
HEHTITAT, THITRY faehT 1 &3, 31 31 F U=

Correct Answer :-

« Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / BICISEY
FEHTIIAT, THIURY faehTd 1 &5, 31 31 JH Huw

10) Ability grouping is a kind of segregation of the to provide greater opportunities of interaction

and stimulation. / faaTR faw=f ok STV & TR AR Ye™ FA & 1T & Tgg, Lo
TSP YR BT JUFHI 3 |

1. Disadvantaged / dferd
2. Normal / 9TH]

3. Backward / ugygdf

4. Gifted / UfTHTET

Correct Answer :-

. Gifted / UfaHTE



Language development in children follows the Principle of / g1 | U &1 faerg < Rrgia & siavta grar

1. Integration / TP D]

2. Uniform pattern / b= Yo

3. Continuity / IBEGRGI

4. Individual differences / TTd FHZdT

Correct Answer :-

o Uniform pattern / Ychg T

12) Direct method is also known as : / Ud&l fafa =t ER KR # oft ST STar %:
1. Direct approach / Y& P

2. Inductional approach / IR DI

3. Natural method / EI'@"I%IEF fafy

4. Indirect approach / &l VB0

Correct Answer :-

» Natural method / Elm fafdr

13) In collaborative learning, it is better that the students go through i '\q?'tﬁ‘ﬂ 3R ﬁ:, qg a?Tﬂ' % &
B & HIHH 9 STg |

1. Self-assessment / ¥dd: 3T

2. Formative assessment / XTI 3{{h -]
3. Peer assessment /Wzﬂ 3o
4. Summative assessment / AN 3Tha

Correct Answer :-

o Peer assessment / et sip

14) Rating scales are used to measure / A & ﬁﬂ;f %4 Ay Ae (%%T W) BT ITANT
farsmar 31

1. Intelligence / g@

2. Attitudes / \3'|ﬁ-|'ql%f

3. Achievement / RIS
4. Skills / DRI

Correct Answer :-

o Attitudes / aﬁ-fqﬁf



15) Which of the following disorders is caused by an extra twenty-first chromosome? Fafafaa g I s ar

foR te sfafted soiaa U & FRUT T &2

1. Phenylketonuria / Wﬂﬂh—cﬂ

2. Down syndrome / 813 RigiH

3. Turner’s syndrome / X ®T RIS

4. Sickle cell anemia / GRICIT PITRTeRT SRaTdT (bt Tl THITHAT)

Correct Answer :-

+ Down syndrome / ST3+ ﬁl@ﬁ

16) Which of the following will occur if the stimuli of the first task is greater in similarity in the second task?/

frfafaa & 3w g afe vsd w1 &Y Ste, g o F wuar @ &if¥e 32
1. No transfer will occur / g H} RITAIRUT 781 81|

2. Extent of transfer will be minimum / RITFTARUT &7 AR gATH GRTT|

3. Extent of transfer will be less / SITTRUT BT fa¥dR &H GHTT|

4. Extent of transfer will be greater / RIFTIRUI BT AR 3Hfees I

Correct Answer :-

« Extent of transfer will be greater / RITATARUT BT fowR offde 6 1

17) Which of the following statements best defines motivation? Fafafaad s PI-IT HYT U0 P 3T
aXE ufeuTia wvar g2

1. Internal state of an individual that arouses, directs, and maintains behaviour./ ﬁﬂ:ﬂ ajl'ﬁf ﬁ 3ﬂ?|ﬂ_0|'7 @lﬁf \_l‘h
TER 1 JIford Bl &, SR Bl § SR 1T 3@l 5|

2. State of one’s emotional strength to respond to difficult situation. / e gRfRUf &1 S1a1e aﬁ & ﬁfﬂ;! Th
UTa-Td D Qfad o1 fRUfd|

3. One’s ability to demonstrate discipline. / STIRITHT TR B Y &mar
4. One’s ability to do a task quickly and neatly. ) Tt B Y STec 3R 3T AR Y B B &HdT

Correct Answer :-

o Internal state of an individual that arouses, directs, and maintains behaviour./ W aﬂ% ﬁ &HHW @lﬁf Gﬁ
FIER B IJalord bRall &, I B g SR FAIY & 5

18) Which of the following is not characteristic of a relational learning style? / fafafaad 9 Cack:| Udh

e uTere JftrT Aedt A frdroar 781 22

1. Sequential thinking / W BIES

2. Perception of information as part of a whole / F{Uf CARRSE R DGkl P YRUT
3. Intuitive learning / TS ST gard STETH

4. Improvisation / ST T dTeblieidh TR



Correct Answer :-

« Sequential thinking / &W BIES

19) Which of the following teaches parents a range of techniques for controlling and managing their children's

symptoms, especially with children diagnosed with conduct disorder? / ﬁ'ﬂ'm ﬁ' ﬁ ?ﬁ? ?ﬂ' ?R‘tﬂ, 'FI'I?IT-ﬁ_dT
I U gl & AN DI T B 3R yaflRa FA & forg & ot 8 s s= faRlw = o &
TRV RAPR (Fedex sy A fifdasa e

1. Parent training programmes / ai‘c' aﬁ"T 1;|3l";|'|'1-_\zf

2. Functional Family therapy / W tlﬁ?ﬂ_{ w
3. Systematic family therapy / JUITCITd Thiaredt 2R
4. Play therapy / o U

Correct Answer :-

« Parent training programmes / e éﬂﬁ‘ T

20) What among these are not personality traits?/ 37{& T T AT TEIT qﬁ%"
1. Thinking-feeling/ foaR- HraT

2. Judging-perceiving / STH--FHSHAT

3. Sensation-intuition./ HAGT- 3fc: U=

4. height-color / P G-I

Correct Answer :-
« height-color / G-I

21) What is a rule that always leads to a solution if used correctly called? / 3 frau = @ Dl SIldl % il
THRT TH JHIYTH 14T ¢ Al ITDT Fal &1 A SUART faan w2

1. Heuristic / Td: NY (@W)
2. Algorithm / Qaii”#m

3. Information processing / AT TRRHROT

4, Stereotype / Fm (ﬁﬁthagq)
Correct Answer :-

o Algorithm / U@ IIES2]

22) What type of attention is displayed when a child focuses all his attention on the task at hand, ignoring other
information? / TS P13 =T SIUT YRT ST U BT TR Hisd HeaT 8, 3R 3= Jar3ii &1 st
T 3, A frd TR &1 sraur velkia gar a2

1. Selective attention / IATHD SHIYUTH
2. Simultaneous attention / THBT® ST



3. Divided attention / f[AHIT @YU
4. General attention / FTHIST {dYUTT

Correct Answer :-

« Selective attention / JYIHD dYTT

23) There is an addition of information to the existing information in learning./ S o

el STHSRI & fore ue sifaf¥ed e Rl 81
1. Sporadic / f&§cge

2. Spiral / I

3. Linear / X%

4. Disjunctive / TGNt

Correct Answer :-

o Spiral / gftfa

24) Who among the following did not propose a trait theory of personality? /

Prafifea § 9 o aftaa o1 @ kv Rigid @ 2R Tearda 98 fsar?
1. Hans Eysenk / 89 39

2. Raymond Cattell / XHS dhed

3. Albert Bandura / 3/GSC SUGRT

4. Gordon Allport / TTe STAUE

Correct Answer :-

« Albert Bandura / {8 a:I'U@?T

25) An individual achieves the masculine or feminine social role during ./ QH?EEI'%[

& SR URY T AT GTATRTS YAt UTed Hea 2 |
1. Childhood / ST (JT3cSgS)

2. Adolescence / frRRTaRAT

3. Late Childhood / U%d 90 (T A3cegs)

4. Infancy / =19

Correct Answer :-

. Adolescence / fHRIRTGRT

26) Meta components, performance components and knowledge acquisition components are categories of:/ AaT Ucdh,

"SR Ued iR I Ui ues fr= & @ fraa 3fomi &



1. Tripartite Theory/ Aueita Rigid

2. Triarchic Theory/ [ECALIR] ﬁl?‘iﬂa

3. Allport’s Theory/ e &1 Rigia
4. Eysenck’s Theory/ ST & Rl

Correct Answer :-

 Triarchic Theory/ IEcANIE I%I@ia

27) CANCELLED

Which of the following is not a use of an intelligence test? / ﬁ?ﬁl’@ﬂﬁ@ﬁﬁ@ﬁ&ﬂﬁmﬂ
TR graT 82

1. Selection of students for scholarships / maqﬁ%ﬁﬂzmsﬁwam

2. Evaluation of teacher’s performance / ﬁTW%WWW

3. Grading of a student /W@"Haﬁa'%ﬂ

4. Predicting a student’s success / WW@WWWW

Correct Answer :-

« Grading of a student /W@'ﬂﬁ ST

28) Skinner advocated that learning was more likely to occur when/ PR A awTaa ot fb Wwq o GuaT
a9 iU gidt 8 o1d

1. Explaining public events or observable behavior/ TSl TeT3M IT S{TeAH1T AR B RS HAT|

2. Observation of a behavior is followed by modelling/ U8 SIIER T 3faciich Ufdgsl gRT far Srar 3|
3. Behavior becomes a reflex response to stimulus/ STTER ol & foTT Teb ufarare ufaferar a9 ST g
4, Behavior is reinforced with a reward or punishment/ GIdGIR Gl Udh gH g1 golT & 1Y gaferd fHar Sirdn % |

Correct Answer :-

« Behavior is reinforced with a reward or punishment/ dgIR Ca Udh SATH g7 oIl & 1Y yaferd fHar Srdn % |

29) Which one of the following methods is used to study the behavior of an individual in its totality? /

fFrafafaa A @ feg faftr &1 Sy fedt safdg & uagR &1 39! IHYaT § ey #31 & fau
o wrar 82

1. Observation Method / 3faciies=1 fafer
2. Experimental Method/ TANT&S fafd
3. Survey Method/ Sa&ur fafy

4. Case study Method/ &9 Tl fafy

Correct Answer :-



. Case study Method/ &4 &l fafd

30) Which of the following is a projective technique to assess the personality? / ﬁﬂﬁ'@ﬁ ﬁ ﬁ ﬁq '\‘ﬂ

&Y A1 AR BT BT B & fog giedl g 2
1. Rorschach Ink blot / IR WTa! BT YT (D SH&IC)
2. Interview / HT&TP R

3. Questionnaire /IHTIC!

4. Observation / a&‘lUT

Correct Answer :-

« Rorschach Ink blot / T et BT YT (ﬂw EWVTE’)

Topic:- General Sanskrit(L1GS)

Y g urieTRTer FET 9T 7



o D |
4,
Correct Answer :-

AT car |
. Ny )




P 31T sfd $reer ugH ?
3T |
1.
gfolsaTH]|
2. 2 - =
ATHhH |
3. 2 -

4. -: - I

Correct Answer :-

3

cdT |

4

Correct Answer :-

) ¢.04 s guer e fo@d |
. TafARvIfeeS-3rcaeed# |
U AAAYg-3TCATGAH |
| AfaAYaS-geangT |
| TsafAHNIeeh-3TsecareeA+ |




Correct Answer :-

TATEIATd AT YHAG: |
TR, AT YAG: |
_ TR AT 9AS: |

Tareg el AT UYHS: |

4

Correct Answer :-

chu--l-llghd-lla sear fefer sfea 2
_ clarorea |

Scal& A |

2.

e |
qIeTHITH |
4,

9)

Correct Answer :-

MUAYGIHA |



AFIAFAAAITIIAA

2

3T USMA Y3 T3 |

3

STLIATHA Y I I A A

4

Correct Answer :-
STLIATHA Y I I A A

\ UAH |
Correct Answer :-

o ugH |

Iz)qﬁ%m‘ﬂ‘lﬂ’fﬂﬁﬁﬁ?ﬁqﬂ?ﬂﬁ?
1.‘?—fﬁ]'tFITI
 USGHAT |
, e |
, ladrr |

Correct Answer :-

. gfadrr |



* fag_ e die-3caAqey-sga-ed e 2
1l3']?\-|74:f|
, doald |
_ dard |
4.1aa-|g:rI

Correct Answer :-

~ faemE |

JUT |
3. ~

\ alralaQTll

Correct Answer :-




_ dleT = |
, ST 3iefed |

Correct Answer :-

- UIeET 3o |

; Ul>doledH |

giug: |
4,

Correct Answer :-



;3 ©
5, < |

? ey T & ?
, N |
, oL
3. m l
, T

Correct Answer :-

® e 5T oeg AT |

. IMOTYcTH |

AMUIaH |
2

_aorafas |
4l3TUT@TIﬁTF[I

Correct Answer :-



* quRETer f gt |
T |
, Te#e |
, el |
EAaCis

4.

Correct Answer :-

ey 3fd FEAT Use: fol@d |
Hbdq}ﬂl%w?lﬁ'ﬁﬁzl
1.

HCTT ARG TIITTRIETH |
2.

HCAT ARGl A ITTRITH |
AT ARGl A I TRITH |

Correct Answer :-

T TATRIGCI I TA I TRITH |

3

4.




3. 2 |
, P |

Correct Answer :-

2.

iailﬁl: I
3.
4. Tt |

1.

dcdAT: |
2.

dodidET: |
3.
, oetdig: |



RE-CICUN
oGl |

2.

| & |

4 gIger |

Correct Answer :-

g |

Correct Answer :-

. dfeesad |

28)

faededish: $ca%d Alrdfaeog e |
faeaa olle: |

faegear ae: |

 facad sre: |

| ﬁ?.?q' colldh: |

Correct Answer :-

4



Correct Answer :-

fora: |

Correct Answer :-

o |

Topic:- General Hindi(L2GH)

1) T T ATH IET ST,

ARY @ WA ArHR Gt |

ATHR T, a0 A 4 38 o1 uT|
fieRra & o Teft &, Mg often =)
AT T I U, AT URY Wit |
YT et S o, i arat T=edt



R gire faraR WR, Ta I Arer|
figwra ® 9 IR, Hig gral arar|

&, &1 Hed Funq e fa g et

mwwmmmml
31eft I WY SIHOT, Sl THATSH 7 AR |
R ¥ wY ARR MR, fRas) gont arefiRT

ST Ui B UgHR A YD T UY BT SR IaIgd:
- "UTR’ Weg FT 34 ¢ -

1. T (UR3)

2. fadmT

3. 9T (@R3)
4. Ui

Correct Answer :-

. TMT (U13)

2) WM BM IIHR @t o,

AR @ wiA AR Gt |

AR TG a1 AT 1 I3 a0 U |
feRTa $ o el &, Mide <fem )
TS T G U, AT URY Wt |
YT et S oy, i arat a=edt

R gire farar WR, Ta I ATl
fieRTaa ¥ 99 W14, Higw grel aran|

a1, 1 9ed qunTd foer foa g 9|

mwmmmwﬁﬁmﬁl
el ITa Uy GOl At STHATSH T AR |
Wi 71 7Y FARER AR, fRast goit s

IUYa Ui B UG A YD Y UY BT STR IaIgd:
WA- AT 7 FRi B Sy § -

1. 599 4 IS a1

2. ST BT YR

3. JYAT &1 fbART

4, Sc] bl HId

Correct Answer :-

o GBI fbRT

3) W B TIH @ o,

ARYS @ wiA s et |

ATHT G I T (e I8 =0T Uy |
fezTa & $w el §, Mifde dfem =)
ATHE T AT U, JHROT URY Wt |
YT YTt SR ur], N arat It

R e fiaraR AR, Ta It ATl
figRma= ® 99 w9, Wi gRel ararl



HiafeaT I AT U, UER gt A5l
3t Ia uY gur, St sHTSt I @7
Wi 71 9y AR AR, fRas) goit s

SUY UL $Y UgT 2 TR TG U BT I qaTs:
T - fEas! o efRT FeA A Fm AT 3 2

1. 599 4 IS g

2. & BT SUHIAA S

3. 389 I G gl

4. &Y BT AIHT BT

Correct Answer :-

. B<O BT ATHd BHT

4) TTH T A6 Al S,

ARYS @ WA ArsR @t |

ATHT G I A (4 I8 AT Uy |
ferTa & o el F, Mifde dfer =)
TS T AT U, JHROT UIRY Wt |
YT YTt SR ur], N arat It

R gire fiaraR AR, Ta It ATl
f¥ex1a ¥ 99 R4, Higw gral aranl
iafear 31 o Uy, veR Wt ard |
3t I Uy gwur, Sat SHATSi I @R
R 1 vy ARER AWR, feast guit arefiRT|

ITYa Ui B U 19 YD ¢ Y T I<R JaTsd:

U= - U Ue § 3afar ST quiH faar 1an, qarse 39e WRar HiE § 2
1. HRIETS

2.3E™

3. fiRuRY

4. 9MH

Correct Answer :-

5) WM M IIHR @l S,

AR aren w1 IR wEret |

TP TR I AMRY A IS 901 ure] |
feRTa & $ el #, Mifde e m)
AT B AT U, JHROT URY Wt |
YT et SR oy, i arat a=edt

R gire faraR WR, Ta It Arer|
figera ® 9 R4, Wi gral ararl

&1, ST Hed Jund fag e o et
Wﬁmwwmmmﬂ@
3Teft 37 WY SIHOT, Sl THATSH 7 AR |
Wi 71 7Y FARER AR, fast goit s



ST RN B U@ A U T U BT IW Fa1sd:
WA - TRgd Ue W WRT B Hicy {6 g 91 82

1. AT

2. Qg
3. 09

4. g

Correct Answer :-

6) TH T A Il o,

ARY @ iR ArHR Gt |

ATHT G I A e I8 &Aq07 Uy |
fe=Ta § o el &, Mide <fem )
AT W RV URY, GHROT U, @A |
YT WTelt SR o, i arat Tt
R T HanaR W, Td dsid Aqrar|
fieRTa ¥ 99 T4, Aigw gRal aran|
[TafAT I AV URY, TgR gl 15l
aneft 3ra vy gor, S swSh I FRi
R 71 vy AR TR, fRas ot sy

IUYa U= B Ugh 1 IR T UY HT SR qd134:
U - I B A HRT B foh <t &1 =781 g 2
1. 910 FRA BT

2. Hfdd B BT

3. ERA
4. &

Correct Answer :-

o 910 HH BT

7) W A ISR 4! S,

AR wren w19 AT IS |

ATHT G I T (7 I8 =0T Ty |
fe=Ta $ o et &, Mg ofem )
T W RV URY, RN URY WA |
YT WATelt SR ur, N arar IR

R T Hanear W, Td dsidt Arar|
fiezTa ¥ 99 =14, Aigs gRal aranl
&1, a1 7ed quId fae o g awt
TIGRAT I TN UTR], UgX g A5 |
el Ira Uy GeHOT, A STHATSH T AR |
R 1 vy AR MR, fRast goit arefRT

IuYad UM ) Ugh? d YD T UY BT S<R 9d133:
U - $W BT WIU ¢ ?



1. Had GRall YRUT DA aral
2. Had T TR dTe]

3. Fad didreR Ug gu

4. SWRIad T+t

Correct Answer :-

o SWRIad gt

8) W WM AT Al oft,

AR wren w1 AT IS |

ITHT TG, SN TR, 4 I3 TR0 Uy |

feieRTa & Pt wredt /), Mifde ofter )

T A GO U, FAYT Uy TR |

Yt WATelt SR ur, N arat IR

R T Hanar W, Td dsidt Arar|

figRma ® 99 TRa, Wi gRel arar|

&1, a1 7ed qUId faw o g awt

TIGRAT I TN TR, UeX g1 A5 |

el Ira Uy GeHol, A STHATSH T AR |

R 1 vy AR MR, fRast goit arefRT

STEH T P UG 2 YD MY UY BT SR Fa1sd:
U= - U ufed # kT, 01 A A1 99 FI 3wt 82
1. MBI

2. Gt

3. Uftrent

4. Oal

Correct Answer :-

9) WTH g ATHR 3@l oft,

ARUT aTer w1 TrHs I |

AT TG 91T AR (A 36 =01 U |
feRTaq & o1 el ®, Mg e )
TS B ST URY,, JHROT URY TR |
YT ATl SR U, i arat wwedt
R PTe HanaR WR, Td deid! AT
fieRTa ® 9 R4, Aig= g arer|
&1, a1 Hgd qud e fam g it
HiafeaT I SIH1 Uy, UgR Hgwt A
el 3T Uy ST, el STHHTS 37 dRA |
Wi T uY FARER TR, fFag! gon SrefiT|

SIS U B UG A1 Y T UY $T IR TaA159:
TR - Y TR BT T R 8 ?

1. STcil TSt

2. HORT gret



3. 9i ¥ STel qret
4. TR WSt

Correct Answer :-

. HERUTAS!

10) TN T TIH 4T o,

R e w1 =y TS|

AR YER a1 A 1 36 3901 Uy |
feRTaq & o1 el |, Mide e my)
TS | ST U, JHROT URY @R |
YT ATl WY U, i arat wwedt
R gire FranasR e, Td Jsidt arer|
figRTaT # O 19, Wi grelt are|
1, S wed qurTd fore famr I
AiafeaT I SIH01 Uy, UgR Hgwt ars |
el 3T Uy ST, el SRS I ARA |
Wi 7 a4y FARER TR, fag) aon SrefiT
ST U= B! UgHR -1 TS T U BT IR qa13:
1. DIl 9%

2. Hidr I

3. e o

4. QU9

Correct Answer :-

. dlarad

11) T B IIHR IRET o,

ARUS arer w1 arss I |

ATHT TER 91T T (A 36 =01 U |
fie=Ta & $o1 77elt #, Tifdg e )
TS B ST U, JHOT URY TR |
YT WATelt AR ur], i arar weedt
TR JTe HansR g, Td deid! Are|
fieRTa ® O R4, Aig gl are|
&1, a1 Hed Sund o fae g it
AiafeaT I ST Uy, UgR Hgwt s |
ST ¥ WY v, Sieat STHATSH T dRi |
HRi 1 vy FRER ARR, fRast wont s

ITad Ui B U - IS T Uy BT IR Ta133:
W - HiRT frat waa @2

1. HId HIgA B

2. Had TRYR Bt

3. ddcl T B



4. IR gt

Correct Answer :-

o SWRIad g+t

12) TH WM A6 G ol

FARYS aTer w1 TreR IS |

ATHR G, a1 AR, Fd IS 0T U |
fe=Ta & 1 et &, Tifdg oftem )
TS T ST U, JHUT UG TR |
YTF YTl SR o, i arat IR
R gTe HanaR W, Td deid! A
figRTa ® O w9, Wi gRelt qrer|

41, a1 Hgd qund g fog g et
iafeaT I ST U, UgR HgEl s |
el ITa WY geHvl, Eat AT I @R |
T T uY FARR ATR, fas) gon erefiT|

ST UL B U e IS T Uy BT IR Ta134:
W - TR U] S HTT T 32

1. gelret

2. 89

3. @ot delt

4, U

Correct Answer :-

13) T T IIHR I4T o,

ARY aTer w1 TrHs A |

AT e a1 A A 36 01 U |
faeRmam & oo et A, Mg far A
TS & ST URY, JHOT URY @R |
YT ATl AR U], i arar weedt
R PTe HanaR W, Ta deid! AT
fieRTaa ® O R4, Aig gRedt are|
&1, a1 Hed Sund o fae Tg it
AiafeaT I ST Uy, UgR Hgwl ars |
ST ¥ WY g, Seat STHATSH T ki
HRi 1 vy FRER ARR, fRast wont s

IUad TR B UG A8 U T Uy PT IR Td134:
U - 9 &1 wafaarE) 2reg e 8 ?

1.7

2. AT

3. Hal

4. Ao



Correct Answer :-

14) T T IIHR IRET o,

ARY arer w1 TrHR A |

AT TER a1 T (A 36 01 U |
fe=Ta & $o1 et #, Tifdg e )
TS B ST U, JHOT URY @R |
YT ATl AR U], i arar weedt
R PTe HanaR W, Td deid! ATe|
i1 ® O R4, Aig gt are|

&1, &A1 Wed quId o foe v et
Hiafear 1 Raor U, Ue) St A |
ST ¥ WY v, Sieat STHATSH T dRi
Wi 3 vy FRER ARR, fRast wont s

IUYa TN Bl UgHh A IS TT UY T IR qa1sa:
T - AP Veg BT 3 w1 32
1. ARTS BT

2. Gadfa
3. 3A

4, glq ol

Correct Answer :-

o Ul HAT

15) T T 9IH< 41 o,

R YT TTen w11 Ao TGt |

ATHR TER AN A e I8 RA01 U |
fe=Ta § 1 et &, ifdg oftem )
ITHE B GIHOT U, JHROT URY @R |
YTF WTelt SR ur, i arat Wit
R gire FransR e, Td dsidt arer|
f¥e=Ta= & 9 wR19, dig gRedt aren|

&1, S vga gund fad e g e
|IGRAT I G701 IR, U w1 A5 |
el 3T WY AT, St AT I @RI |
WRT 7 Uy FARER TR, gt gon SrefiT|

IUT TR B UgHR 19 IS T Uy $T IR Ta154:
TR - Rt TR HRT -7 AT ATEA @ 2

1. HId G BT

2. BT S T

3. dad dtell Tl

4, IURIe It

Correct Answer :-



16) &t &1 frar g ol afe e &1 €t ufvomy @ &t gl &1 far gom s ot 399 faem siv Rrem &1 & ufvomy
U AT 0 F MNA B, RN BRI, ST ST, FRGT B, gH A-1- A T afe yga-foramt 1 &1 aRoma gt
al AR P, T AR g3y ae g -t Aifey | U faféra, arasafial ok 78-7awid Riar Tt gefta U A

1A 9gd & U AT | APaan 3 gWd B B AT HeBR $H-Ul SRATHIRAG AT feETg? 1 98 98 Hadl fb- “amd g7,

TSN TST 3BT HTH fbar s W W1y Td-faare s gor 1Y 9, <, geER, ok ud @Y snu yeaer gfd 81 uelt
TR giv-@-gIv @R $IP S 3TQ WA ST T § F Tg-wquTa o1 fobfe o 39 =8 v | ar @ siftre anedt whit
T8 it S | oy +fY A, e Arew ¥, srumfAa g3 wdaar A gwid & fawg ¥ gafer seaarars st A uhaea g
R Htar | IEs & fawa & /1 FEaarar T 8, G- agaun SRT I ST S $ o1 fF A7 9 grR ¢ifa & ar- €

AT F Fabr Ut fagresrar wifad &2 & 1 o o oft, @ & g @ e framare gaee & g g9 ois fan &
g 919 TR T & 3 82 SiYdl FIT 98 GeR| fAgwn a1 Hgw ot qHT 3 areft 82

IUYa TR DI USHR 1Y ID T UY PT IR Id133:
UeH- @IHTaedr &1 fAaA U< § ?
1. 3RaATHIIdEdT

2. geoldl
3. UHR

4. I[N

Correct Answer :-

17) &t &1 forar gam ol afe e &1 &t ufvomy @ &t gl &1 f5ar gom s oft 3! faem oiv Rrenm &7 & ufvomy
U ARY | 0 & NA B, AT BRI, STb ST, FHGI B, T A-1- A I afe vg-fora=t 81 &1 akoma gt
f 9R B, ¥ 3R Waas‘raﬁar%mmﬁf&rwﬁ ammﬁ?ﬁaﬁvqaqawﬁ%mﬁiﬂa?ﬂaﬂmaﬂﬁ
mﬁa‘gaé’rmﬁaﬁlwﬁ Bl B¢ IR eI HIH- SR@TUTRIFaT fears? 1 98 g8 Fedt - arrcfgsr,
Wla@ﬁa@rmiﬁmvﬁﬁ%mﬂwﬁﬁaﬁmﬁswwlﬁﬁr T, WETAR, 3R 4 Bt 39 yeaet 7l 317 ueAt
wW—#—Wmmm‘rmﬁ'\tﬁmwﬁ?%m—wuﬁmﬁﬁﬂmaﬂﬂﬁwﬁl@ﬁm'\?farf‘wmed’twﬁ
T8 gt S | O 1Y 3, gpaen Aew ®, sruwiiea g8 Idaar 9 gwid & fawg ¥ gafer seaarars st A uivaea g
R T @ s & vy & | FEaarar T §, G- aeaon SRT 39 I6 A $§ o1 {6 37 | geRt sife & arm &
3T A Fgh U fagsar arfaa &% & At fog w oft, @il & g @ e frarare gao- 8 o g3 ot fan &
UE ITd RN A & I 8?2 YT T I8 TN AT a1 Ag1 ST U1 37 aredt 32

I TR B! TgHT 1 D T Y PT 3WX Iq153:
UH- 3T § IWRA Farsy ?

1.9

2. %Y

3.3

4.9

Correct Answer :-

18) f&raf &1 frar gon 3@ afe ugm &1 € ufvomy 8 oY goul &1 frar g o o et faem aiv e &1 & ufvoma
U AT 0 & N Bp1, RN BRI, STP ST, FIGI B1, gH A1- A I TS yg-fora= g1 &1 uom g1
@ 9R B, ¥ d 3R Waas‘mﬁm%mmﬁf&rwﬁ ammﬁ?haﬁvngawﬁ%mﬁvﬁa?ﬂﬁﬁmaﬂ%

mﬁaga‘zﬁmrﬁﬁﬁlw%mﬁﬁmwaﬁ'—r-ﬁmmﬁﬁnﬁaﬁ?wagugﬁ?ﬁﬁ?—“arr&ga,

TN TST BT HTH fHar Y W A1y Tud-faars s gor 1) i, ar, aeEr, ok ud @t smu yeaer gfd 81 uait
W gv-F-Fv AR X ol 30 THT A= I § 3 AT-3aUTd FT BRI ff 39 78 @ | dar @ it aredt it
T8 gt 1S | oy #13 }, e Arew ®, sruwiiAa g3 Ipaar A guid & fawg ¥ gafer seaarars st A uRaea g



R Htar & I9Es & fawa § /T FEaarar Tl 8, G- dEHun SRT I ST S $§ 1 fF AR 9 R ¢ifd & ar- &
T § Hab? SuN fagrear wifea ® &t f e w R, it & g @ Freven frarare gaes @ ¢ 92 ofs fan &0
IE ITd N PO & I 8?2 YT T I8 TR fAgT1 a1 Ag1 I U1 37 aredt 32

ITY TR BT UgH 1 IS T Uy BT IR 9q153:
- 3T § & ST R TS ?

1. SYAD BT

2. fagg g

3. g&R B

4. fagigr g

Correct Answer :-

. fags g

19) & &1 foar gam ol afe e &1 &t ufvomy @ <t geul &1 f5ar gom s oft 3! faem v Rrenm &7 & ufvomy
U I1RT | §9 & M B, ARGl BRI, STd ST, FHRF B, TH a-1- A 94 Ife ter-feram g &1 ufoma gt
@ 9R Bad, ¥ 3R Wa‘&ﬁmﬁta@muﬁﬁf&m ammﬁ?haﬁ?qs'qawﬁ%mﬁﬁﬁﬁaﬂmaﬂﬁ
mﬁmﬁmﬁaﬁlwﬁ B! Hg IR PR HIH- @IS T fears? 1 98 98 wedt f-* arrcfgsr,
m-mmm%mvﬁﬁ%muwﬁﬁaﬁm%wmlﬁﬁ MY, YR, 3R 4 #Y ama yeyer ff 31~ oot
tRW-#—ﬁvmma‘rmﬁ@ﬁmmﬁ%%m—wwm%ﬁﬂmmqﬁwﬁl;ﬁmﬁsrmmﬁzﬁwﬁ
T8 g S| oy +fa A, Trdaen Aes ¥, srumfaa g8 Apdaen A gwid & fava A gafer seaerare st A ufvced g
TR a1 | s & fAa & w1 Feaergrn 8, G- agHun SRT I ST H F <47 6 AR 9 greR S & qra €
3T A Fgh Ut fagsar arfad &% & 1 fog w oft, @il & gra @ e frarare gae- 8 o g2 ot fan &
IE I GORN PO P IR 82 YT T I8 TOTY fAgT a1 Ag1 I 2T 3 aret 32

IUY T FT UgHR 1R TP T ¥Y BT IR Ia153:
R - 73Ul & e &1 srdert akomm § 2

1. I AR HAT

2. Had 99 & TMdd BepHT

3. Had T B g1 HRAT

4. S gt

Correct Answer :-

o SWRIad It

20) f&rat &1 famar g oM afe yem @1 &) ufkomy @ ot gout &1 frar gam ol oft 3@ faen ik fRren &1 € ufvomm
U ARY | T0 & N BPH1, RN BRI, STP STaT, FIGI B, gH A1- A I e yg-fora=t g1 &1 ukom g1
al AR Piaw, 7B R Wﬁamﬁaﬁqlmﬁﬁmﬁ Eﬁ@fﬂ?ﬁﬁ?’]{s”]ﬁ?ﬁ%ﬁﬂﬁ'&ﬁﬂ?ﬂﬁﬁwmﬁ

mﬁagazﬁmrﬁlﬁ'ﬁlw%gmﬁargamﬁmaﬁ'—r-wﬁmmﬁﬁnﬁﬁﬁ?wagugﬁ?ﬁﬁs—“arrdga,

TIETRN FST 33T 1 far ot R A1y T=d-fyars $3& gae ) ifd, =g, geeR, oiv o &Y sy ywer gfd 817 uelt
W gv-F-Fv SR X ol 33 THT TR 3 § 3 ATS-3aUTd $T BRI ff 39 78 @ | ar @ it aredt it
T8 it S | oy #1d A, e Arew ®, srumiiAa g3 Ipaar A gwid & fawg ¥ gafer seaargrs st A uRaea g
R i & s & vy & | FEaerar T §, G- asaon SRT 99 Ie A $§ o1 {6 39 °@ geRt oife & ara &

3T H FHed Ut fagrsan arfaa & &t <5t o wR ff, @il & g & fAean framare gaes 8 gue g9 ofs fean «n
Tg ST TR A b Y 82 YT T I8 oY Farge1 a1 7gn 1 2T 37 aredt 82

ST TR BT UgHR -1 T T Uy HT 3TN Ia153:
U - ‘P&’ BT UIigaT Xeg T LI & ?

1. 9gRT

2. Ppcd



3. HaT
4, ORAR

Correct Answer :-

21) & &1 foran gam o afe uem™ o1 € uikomy 2 @t gout &1 frar gam ol oft 379t faem ok Riem &1 &t ufvomy
U ALY | T0 & et BT, RGN BN, ST STA, TG BT, T A11- A 99 Ife Ug-foera=t € &1 afvoma g
Al R B, T AR TSI §E § W Afeq 1wy fAfardl, sraefiet sk 77-75wi e Riar ¥ gefia 91 B
mﬁmawﬁaﬁlwﬁ B! B¢ IR e HIH- Sr@TUTRIFar fars? 1 98 g8 wedt - and’g—ar,
Wlwmmﬁmm‘rﬁ%muwa‘ﬁaﬁfaﬂ%wwlﬁﬁr T4, e, 3R «f #Y 3y e gfd 817 ot
u'\rW—#—ﬂkmmﬁm’rmﬁvﬁmmﬁ%’%m—wmmﬁﬁﬂﬂﬂaﬁaﬁwﬁl@ﬂm%&rf‘wwﬁ’rwﬁ
T8 it S | o 1Y A, A Aew ®, sruwifea g3 Idaar @ gwid & fawg ¥ gafer seaarars st A uhaea g
R a1 & IEs & fIwa § ’ FEaarar Tl 8, G- aEHuN SRT I ST § $7 o1 fH A7 a9 IR ¢ifd & ara- &
3T H Hgh U fagysar arfaa &= & A1 fog wr oft, @il & g | A frarare gaor € que g9 ot f&an &
UE ITd RN PO & AT 8?2 YT T 95 FONY fAgT a1 Ag1 I 2T 37 aredt 32

ITY TR HT U 1 IS T Uy BT IR Id153:
U - ‘fhR g A areri g 2
1. forar & 99 E

2. 9gd
3. forRRfed
4, ST

Correct Answer :-

22) & &1 foran g o afe ugm™ o1 € ufkomy B @t gout &1 fsar gom ol oft 39t faem Sk Riem o1 &t ufvomy
AT ALY | TH & et eb=11, RGN B, ST STA, TG BT, T A11- A 94 Ife Ug-fora=t €t &1 aivoma gt
o 9R BIa, ¥ 3R mwaaﬁaﬁaﬁqlmﬁf&rwh ammmaﬁ?qaqawﬁ%mﬁﬁa?ﬂﬁﬂmaﬂﬁ
aﬁa‘gaé’rmﬁaﬁlwﬁ Bl B¢ IR e HIH- SR@TUTRIFaT fears? 1 98 g8 Fedt - arrcfgsr,
Wlmmmﬁmﬁrﬁ%muwﬁﬁawm%wwl% T, WETAR, 3R 4 ot 3ma weaet 7l 317wt
u?W—#—ﬁ?mma‘rmﬁvﬁmmﬁ?%m—wmmﬁﬁﬂmaﬁﬂﬁwﬁl@ﬁm'\‘-’rarf‘wmediwﬁ
T8 it S | o 1Y 3, paen Aew ®, sruwiiea g8 Idaar A gwid & fawg ¥ gafer seaarars st A uvaea g
TR a1 A s & g ¥ 1 FEaargrn 8, G- dEHun SRT I ST H F <47 6 AR 9 greR S F qra €
3T A Fgb U fagsar arfaa &% & At fog w o, il & g @ e frarare gao: 8 o g3 ot fan &
UE ITd TN PO P AT 8?2 YT T I8 TR AT a1 Ag1 I 2T 3 aredt 32

ITY TR BT UgH? 1 IS T Uy BT IR 9133
TR - U TR BT ST § ?

1. 599 4 IS g

2. R BT ]AHT

3. AR <IaT

4. TR} 1 GHTG

Correct Answer :-

LG



o o1 foran ganm o afe e o1 €Y ufkony B @t geot &1 fsar gom ol oft It faem SR Rrem &1 &t ufvomy
U ARY I 0 F NA B, AT BRI, STb ST, TG B, T A-1- A I afe vg-foramt 8 &1 akoma gt
f 9R B, ¥ 3R Wwﬁmﬁa@qluﬁﬁf&mﬁ ammﬁ?ﬁsﬁ?qa'qawﬁ%ﬁmﬁﬁaﬁaﬂmaﬂﬁ
mﬁagaé’rmrﬁaﬁlW%wﬁwmmﬁﬁmmﬁmﬁaﬁ?Wﬁwm%— arrcfgsr,
TN TST BT HTH fbar Y W A1y Twud-faars w3 gor 1) i, =, aeER, ok ud @Y smu yeaer gfd 81 et
Wwv#ﬁvmmﬂmﬁmﬁﬁamm%%%m-wuﬁmﬁ?ﬁmmm%ﬁwﬁl%ﬁmﬁarf‘wmea\’rﬁﬁ
T& G 7| o7 B A, Tpaan e A, qHIfa g5 Thdar @ guid & vy # gafe seaarars 3¢t 1 ueaed g1
R T A s & vy & | FEaerar T 8, G- aeaon SRT 99 Ie A $§ o1 {6 37 | greRt sife & arm &
3T A Fgh Ut fagsar arfaa &% & At fog w oft, il & gra @ e frarare gae- 8 gon g3 ot fan &
Ug ITd RN PO & IR 8?2 YT T I8 TORY g a1 HE1 ST 2UT 37 aredt 32

I TR B! TgHT 1A D T Y PT 30X Iq153:
U - AHadm A gd P! BEPHR B ?

1. 9ug fobar o1

2. SRAIHBA Yabe Bi oY

3. WTHTfdeh T Uehe i i

4.1y fobam T

Correct Answer :-

« WYTfdHdr Ude B oY

24) & &1 frar gan o afe uer™ o1 € uikomy 2 &t gout &1 fbar g oref oft 3wt faem ik Riem &1 &t ufvomy
U AT T0 & MA Bp1, RN BRI, STb ST, FIRGI B, gH A1- A I afe ygA-foeramt 1 &1 uRom g1
al AR Piad, 7B 3R mws’raﬁaﬁqlmﬁﬁf&mﬁ ammﬁ?ﬁaﬁvqaqawﬁ%mﬁvﬁa?ﬁﬁﬁwmﬁ

1 9gd &t U AN | G aen 7 gHd Bt B TR HEHR DIA-Ul S@TUTIIBAr fears? w1 9% g8 Fedt fH- Ve g,

TITETRN FST 33T BT far & W A1y T=d-faars $3& gae ) ifd, <mg, geER, iR o &Y sy uwer gfid 317 el
TR GIv-@-gIv @R $IP S STQ T ST T & § TF-qUTa o1 fobfere o 39 =18t v | iar @ eiftre anedt wit
T8 it S | oy +13 A, e Arew ®, srumifAa g3 Ipaar A gwid & fawg ¥ gafer seaarars st A uRaea g
R a1 A s & fawa ¥ O FeaararTan 8, G- agaun SRT I ST S F <47 fF AR 9 g ¢ifa & arm €

3T H FHad Ut fag[sar arfaa & &t &t o w i, @i & g & fean framare gaes 8 gue g9 ofs fean <
g 910 R $A & U 82 YAl T 9§ JeR1 fAg™T a1 HEwl o 4T 3 arelt 82

ST T BT UgHR 1A U T Y HT 3T Ia153:
T - TR S g ?

1.9

2. S7Tg T M

3. Sfek T A

4. T dIAH

Correct Answer :-

25) & &1 farar gam o afe ugm™ o1 € uikomy 2 &t geut &1 fbar gam aref oft 3wt faem ok Riem &1 & ufvomy
U AT 0 F MNA B, RN BRI, ST ST, FRGT B, TH A-1- A I afe yga-foeramt 1 &1 aRoma g1
al AR P, ¥THd AR gy ae g -t Aifey | Uy faféra, arasafial ok 78-7ewid Riar Tt gefta U w9

I 954 & U AN | Tpaen A gHT B H IR B BIF-Ul SRATUTRISAT g ? Fa1 98 U8 wad! fh- “emd g7,

TMSTRN ST 33T BT a1 oY WY 1y Td-fars w3 gaw g e, =g, JeEnr, oik wf 9t snu yeer gfd 817 ot
TR giv-@-gIv @R $IP S 3TQ T ST T § 3 Tg-wquTa o1 fobfee off 39 =8t v | ar @ eiftre anedt whit
T8 gt S | oy +fY A, e Arew ®, srumfAa g3 Idaar A gwid & fawg ¥ gafer seaarars st A uhaea g9
TR a1 | s & fawa ¥ 1 FEaarar T 8, G- agHun SR I ST S F o1 fF AR 9 R ¢ifd & ar- €

T & HedpR U fagysan arfaa w= & i fog wr oft, &t & g @ Froar framare e 6 gae 93 ofs fean «&n
g 919 TR T & 3 82 S1Ydl FIT 9§ GeR| fagwn a1 Hgw & qHT 3 areft 82



IUY T FT UgHR 1R U T ¥Y BT IR Ia153:
U - REgAT Y ATy § 2
1. STH Y B e

2. HAd gl

3. U gl
4. AR 8T

Correct Answer :-

o HAd Tl

26) & &1 farar gan o afe ugm™ o1 € uikomy @ &t gout &1 fbar gam ol oft 3wt faem ok Riem &1 &t ufvomy
U AT 0 F MA B, RN BRI, ST ST, FRGT B, gH A-1- A I afe yga-fora=t 1 &1 aRoma gt
al AR P, WA AR gy ae g -t Aifey | U fAféra, arasafial ok 78-7awid Ryar Tt gefta Ut w9

I 954 & U (AN | Tpaen A gHd B H IR B BIF-Ul SRATUTRISAT Rag? Fa1 98 ug Had! fh- “emd g7,

TMSTRN ST 33T BT a1 oY A 1y Td-fyars w3 gaw mgi e, =g, JeEnr, ok of #t snu yoer gfd 817 oeht
TR GIv-@-gIv @R $IP S 34 U ST W & 3 Ag-vauTa o1 fbfre oft 3 =8 wad | e @ eiftre aredy wdit
T8 it S | oy +fY A, A Arew ®, srumfAa g3 wpaar A gwid & fawg ¥ gafer seaarars st A uhaea g

TR a1 | s & fawa & O FEaararTn 8, G- agaun SR I ST S F <41 fF AR 9 greR ¢ifa & arm €

3T & HedpR U fagysan arfaa w= &t i fog wr o, & & g @ Froar framare e 6 gaa 93 ot fean &n
g 91 TR T & AI=Y §2 31YaT T Ig GFeR1 g1 a1 HEdl S JMUT A JTelt 32

ITY TR BT UgH 1 YD T Uy BT IR 9q154:
R - T g A warad 3 2

1. TR-IY MUY H ol T I &

2. R-IY BT T T Hd J 1 A TSt g1

3. R-AY B 3 AT BT 3 A s g

4, TR-AY DT T ATAT-UAT BT ST 78T 1t TSt 5|

Correct Answer :-

o TR-IY P T AT BT 31T LT AR TSt B

27) & &1 foran gon o afg uem™ o1 € ufkomy 2 @t gout &1 fsar gam ol oft 39t faem ok Riem &1 &t ufvomy
U ARYI 0 F MA BB, AT BRI, ST ST, FRGT B, gH A-1- A I afe ygA-foeramt 1 &1 aRkoma gt
A AR BIde, THd 3R FB3ATTIT g g1 - A1fee | Wy fafdad, araeafiel iR 77-7Fwi s Riar i oefta U s

mﬁagaé’rmﬁlﬁﬁlwﬁmﬁﬁmwaﬁqiﬂmmﬂﬁmmvwa@wm%— "3 g3,

TSI ST 3BT BT a1 o TR ATy Td-f3are w3 s 1) Hife, g, Jemr, iR of &1 anu ywer gfd 81 uelt
TR giv-@-gIv @R $IP ot 30 U TR 3 § J ag-wauTa o1 fbfre oft 3 =8 wad | e @ eiftre aredy wit
T8 it S | oy 1Y A, e Aew ®, srumifAa g3 Idaan A gwid & fawg ¥ gafer seaarars st A uvaea g

R a1 & I9Es & fIwa § /1 FEaarar Tl 8, G- aEHun SRT I ST S F o1 {5 A7 a9 R ¢ifd & ar- €

3T & Hgh Ut fagyar arfaa &= & At fog wr oft, @il & ga | e frarare gaer € que g3 ot f&an &
I8 I N O & I §? YT T I8 TR AT a1 Ag1 I 2T 37 aredt 32

ST TR BT UgH 1 YD T Uy BT IR 9q154:
U - Tl T ggaa-T o1 NI ?

1. T Y BIs Tal

2. IR

3. Wi

4. Rt



Correct Answer :-

28) & &1 faran g o afg uem™ o1 € uikomy 2 &t gout &1 fpar gam ol oft 3=t faem ok Riem &1 & ufvomy
U ARY | 0 & NA B, RN BRI, ST ST, FIGI B, gH A-1- A I e ygA-foramt 1 &1 uRomw g1
al AR P, WA AR gy ae g At Aifey | Uy faféra, arasafial ok 78-7ewid Ryar Tt gofta U w9

I 954 & U AN | THaen A gHd B H AT B BIH-Ul SRATUTRITAT Ra1g? Fa1 98 U8 wad! fh- “emd g7,

TMSTRN ST 33T BT a1 oY B 1y T=d-fyars w3 gaw g e, =g, Jemnr, oik of 9t smu yoer gfd 81 oeht
TR giv-@-gv @R $IP S 3TQ T ST T & § TF-quTa o1 fobfere off 39 =8 v | ar @ eiftre anedt wit
T8 it S | oy +fY R, e Arew ¥, srumifAa g3 wpaar A gwid & fawg ¥ gafer seaarars st A uhaea g
TR a1 | IEs & fawa & /O FEaararTn 8, G- agaun SRT I ST S $ o1 fF AR 9 grR ¢ifa & arm &

T & Hedp U fagysan arfaa w= & i fog wr o, @it & g @ Froar framare e 6 gaa 93 ot fean &n
g 91 TR T & AIY §2 31YaT T Ig GReRT gl a1 HEl S AMUT A aTelt 32

ST TR BT UgH 1 YD T Uy BT IR 9q154:
= - fra oftre el Wi s SR A T8 7 2

1. dar

2. Sffan

3. RIbdal
4, TRIRT

Correct Answer :-

29) & &1 foran gam o afe uem™ o1 € ufkomy B @t geut &1 fsar gom ol oft 37t faem SR Rrem &1 &t ufvomy
AT ALY | TH & et eb=11, RGN B, STob STA, TG BT, T A1- A 94 Ife Ug-fora=t € &1 afvoma g
Al AR BIaS, Td 3R F3WTTT ag gt W ARy | wReg fafd, mmmww%mmmwm

aﬁagaé’rmrﬁlﬁﬁlw%mﬁﬁmwﬁq-vﬁmmﬁmﬁmé?wagugﬁ?ﬁﬁ?—“anﬁga,

TMTETRN TST 3BT HTH fbar Y W A1y Tud-faars w3 gor 1 i, =, geEr, ok ud @Y smu yeaer gfd 817 et
TR gv-F-g¥ AR 3@ ol 3Q T A= I & 3 AT-3aHTd FT R o 39 78 7@ | Far @ it aredt it
T8 it S | o 1Y 3, e Aew ®, sruwiiea g8 Idaar A gwid & fawg ¥ gafer seaarars st A uaea g
TR AYaT A IWEs & fawa A |1 FeaararTan g, G- aean SR1 39 6T A 7 o1 1P A7 ) R oifE & e 8t

3T A Fgb U fagsar ifaa &% & At fog w oft, il & ga @ e frarare gAo: 8 o g3 ot fan &
UE ITd RN PO & AT 8?2 YT T I8 TORY g a1 Ag1 ST 2HT 37 aredt 32

ITY TR BT UgH 1 IS T Uy BT IR Iq1339:
U — AR’ P A A3 2

1. 3rfe fY

2. guT Y

3. fawt gy

4. < ©fY

Correct Answer :-

o Uy

30) ol &1 foran gam s afe uer o1 €Y ufvomw 2 af geut &1 forar gam ol oft 3=t faem ok Rigm &1 &t ufvomy
U ARY | 0 F NA B, TN B, STb ST, FHGI B, T A-11- A I afe vgA-fora=t 81 &1 akoma gt
o 9R B, ¥ 3R Wﬁﬁﬁﬁa@qluﬁﬁf&mﬁ ammﬁ?ﬁaﬁ?q?qawﬁ%mﬁﬁaﬁaﬂmaﬂﬁ
mﬁag?riﬂmrﬁlﬁﬁlWﬁgwiaaﬁav—gammaﬁq-wﬁmlrrﬁmﬁmé?wagugﬁ?ﬁ%—“arr&ga,
TSR TST BT HTH fbar Y W A1y Tud-faars w3 gor 1) i, =, aeEr, ok ud @Y smu yeaer gfd 81 et



TR gv-F-g AR X ot 393 T TR 3 & 3 AT-quTd F1 BRI o 31 781 @ | Far & il aredt Wit
T8 g 18| fore B3 7, e e 4, Sruwifd g8 Tpaen A guid & fawg # gafew seaarare St A uRaed g
TR Har | s & g & w1 FEaerarn 8, G- dEHun SRT I ST H F <47 6 AR a9 R S & g €
T & paw? U fagrear wifea @ &t R 7 w f), aF i & g @ Freven framare gae § 9o 99 ofs fan &0
IE ITd RN PO P ST 8?2 YT T I8 TORY AT a1 Ag1 I 2HT 37 aret 32

SR TR BT UgHR -1 Y& T Uy HT 3T Ia153:

U - T A o wgpaar Flaags s A dA A faer g 2

1. dCH

2. IUY

3. HgMI
4, i

Correct Answer :-

Topic:- Science (SCI)

1) The relative density of a substance is 13.6 and its volume is 20 cm3. What is its mass? /
fopeft uard o1 AT T 13.6 7 3R THST AT 20 IS 7| FHST GHHH fohaT 82
1.272¢ / UH

2.2.72¢ / UH

3.27.2¢g / UH

4,0.06g / UH

Correct Answer :-

. 272g / UM

2)
The current—voltage graph for two conductors ‘P’ and ‘Q" are shown below. Select the correct
statement from the following options. /

ar garerss P AR Q' F e Rega des dnw A R e §) Feelia
faeredl & AT FYT F TIT HII

Current Q

v

Voltage

1. For the same value of voltage, the current through the conductor Q is more than the current through the conductor P. /



a‘l@g%mnﬁa&%ﬁ,ﬁmﬁﬁwmm QY Bl ToRdl g, aTaie P Y ok dral [dggd ¥ 31
Bl g |

2. The resistance of the conductor P is equal to the resistance of the conductor Q. /
FATAH P BT UfeRIY FaATad Q & UTeRIY & THA g |

3. The resistance of the conductor P is greater than the resistance of the conductor Q. /
AT P HT ARRIY GaTersd Q F URRY § 3ifie 31

4. The resistance of the conductor P is less than the resistance of the conductor Q. /

FATAD P BT TRy FaTded Q & UfaRIy ¥ HH g

Correct Answer :-

« The resistance of the conductor P is less than the resistance of the conductor Q. /
g P 1 UloRY Fererd Q & UfaRIY A 4 &

3) What are the food requirements of dairy animals? /
ST URSHT B W ATIRADATE T 82
1. Cattle need balanced rations containing all nutrients in proportionate amount. /
TRt & Sfera A & it Uives deal aTa Tgferd TR B STl giat g |
2. Cattle require appropriate amount of food to sustain life needs. /
TR B St B SHTaRgHarsl Bl G B & forg HioH &t SUged HET &1 Il gidl ol
3. Cattle are fed with plenty of green grass as well as dried fodder. /

TR B 3ifere gR U o Ty g Gt Ry ot Ry S ]

4. Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

AR & Hie § HieT IR, S U U J IRER 8 94T UR-3MER T WIgeR $HH gid1 § A 33
I TR & UICH Td 30 UIYe da g1d ol

Correct Answer :-

» Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

AR & WieH H Hiel IRT, S US4 I WER 81 94T U-3TeR RFH WIgeR HH giaT § afd gad
T TR & U Ud 37 UiV dcd Bid & |

4) The cracks inside a metal block can be detected with the help of:/

UTg TP P ATARD IR Bt TAeTIdT & fHTHT U1 TIT ST Fhell B:
1. Visible light / €Y UDIR[

2. Infrasonic sound / 3[d4 Y g

3. Audible sound / 4 gt

4. Ultra sound / U4 g



Correct Answer :-

o Ultra sound / U gt

5) At the top of the mountain the atmospheric pressure is: /

Ters & 2 R, arararvity gare fA SUR BT 3:

1. Less than the pressure at the sea level / WWWWQW
2. Equal to the pressure at the sea level / WWWW%W
3. Equal to zero / QH%W

4. Greater than the pressure at the sea level / JH% d¢f U qdld BEEIRED

Correct Answer :-

« Less than the pressure at the sea level / JH% dd U CEICRER

6) Haemophilia and colour blindness are diseases. /
SHpfer v quiferar U

1. acquired / Jutfela

2. communicable / TshTHD

3. genetic disorders / &naamﬁw

4. non communicable / IHhTHD

Correct Answer :-

« genetic disorders / &naa’mﬁ?m

7) Polar bear survives in the very cold weather conditions because of: /
Yy Ut Sreafires ftaa Hiaw o fRufa & +ft shfaa vean 7, wife:
1. Thick layer of fat under skin / e & A 9T o1 HId URd & BRI

2. Abundant fish /Qﬂ?ﬁ@_cﬁ

3. Oversize / fa—ITA®

4. Ice covered land / 9% ¥ Gb! STHIA

Correct Answer :-

« Thick layer of fat under skin / e & A 9T &1 HId IRd & BRI

8) Convert: 15m/s into km/h /
15m/s B km/h § TUTARE PIOME |
1. 54km/h / 54 faHe/der



2. 27km/h / 27 TP dmIeR/der
3. 18km/h / 18 fpaHIeR/der
4. 36km/h / 36 [P aHeR/der

Correct Answer :-

« 54km/h /54 fhae/der

9) Which of the following is not advisable for controlling the noise pollution? /
frafafae o 3 Fa1 af vguor & e 3 & e sfa T8 @2
1. The TV and the music systems should be run at low volume. /
At SR Tifta 7 (Rew) 1 &1 3imars § T@HT AUl
2. The least number of trees should be planted around the buildings./
Y] & IRI 3R HH W HH US TE O 1T
3. Automobile horns should be minimized at the residential area./
ST & H SHICHISTSd g1 ! HH I HH foban o1 =fgul
4. Industrial units should be set up away from the residential area./

N SHIRA! B ARG &F ¥ g AU favan S |

Correct Answer :-

o The least number of trees should be planted around the buildings./

YA & IRI 3R HH I HH US TY S AT

10) For a normal eye, the far point and near point are and respectively./

TS AT 3 & g, ey 2@ faig ofk e = fag v iR gl
1. infinite , 25 cm / 3, 25 THY

2. infinite , zero / 3{Hd, A
3. 45¢m 25 cm / 45 9, 25 THT
4.25cm, 10 cm/ZSQIﬁ, 10 THY

Correct Answer :-

« infinite , 25 cm / 3Hd, 25 Rapi]

11) Alice gets 100 out of 100 in her Math test to get the first rank always. This is an

example of motivation / T P YYH T YT B4 & forg, i
gt # gATT 100 W A 100 3P Ared &1 U8 RN &1 U SeTeRVI

1. Extrinsic / dIgl
2. power-based / fad-snarid




3. fear-based / HI-3TYTRA
4. Competitive / gfaant

Correct Answer :-

. Extrinsic / dlg&l

12) A wire when connected to 220V main supply has power dissipation ‘P;’. Now the wire is cut into two

equal pieces and combined in parallel and then it is connected to the same supply. The power dissipation in
this case is ‘P,’. Find Py : P,./

T IR I G 220V &I ATYfS & ST AT 2 a9 ITH faggq 3Ieag ‘P, FIAT 8 | 314 IR B I
IR THS| A BIeT AT 8 3R JHHIGR FU A FAeh 39 U MYfd A SisT oran ¢ | 39 fRufa o
fagyq sraeag «p,’ FIATRI P, : P, T BH

1.2:1
2.3:1
3.1:2
4. 1:4

Correct Answer :-

e 1:4

13) To save maximum energy it is advisable to use: /

Siftreaw ot g & R fraeT Suai s 3fra garar s §:
1. CFL lamps in our house / 3'5”3{ WH m g

2. Filament lamps in our house / AR R fhame aw (dd a'ﬂ?{)

3. Fluorescent lamps in our house / Etlﬁ W ¥ yfddia S

4, LED lamps in our house / Btlﬁ' WA Q?Igglf ﬁu

Correct Answer :-

o LED lamps in ourhouse/m?ﬂﬁQaéé ﬁn

14) A solution contains 15 mL of alcohol and 85 mL of water. Calculate the volume by volume percentage
of solution. /

T a9 #, 85 mL U 3R 15 mL 3epigd gia1 & | faera & A ufa=rd Q 71 &1 AT B3 |
1.22.4%

2. 15%

3. 17.6%

4, 85%

Correct Answer :-



15) Identify the correct electronic configuration of calcium /
FfERH F T8 saRe =g &) ugarq #¥1
1.2,8,8,2

2.2,8,5

3.2,8,8,1

4,287

Correct Answer :-

16) The number of oxygen atoms present in 1 mole of Na,CO;3. 10H,O /
N2,CO3. 10H,0 & T ATV H SATRIS IRUTU[SH &1 T=IT HINE 3
1 13.02 x 102 oxygen atom.':/ 13.02 X 1023 mm

, 6.022X 10% oxygen atoms | ¢ 055 x 1023 Sif et TR

5 783X 10**oxygen atoms |5 g3 1024 affeRfST TR

4 4.63 X 10* oxygen atom.':/4.63 X 1022 &ﬁa;ﬁwrqu

Correct Answer :-

24 T
. 783X 10T oxygen atoms ;5 g3y 1024 3ifqefier TRATY

17) The process used to separate bacteria from water is /

i | QTR B et HIA B ufpar
1. Decantation / FRAROT
2. Crystallisation / iRl

3. Evaporation / A%

4. Filtration / fAdg

Correct Answer :-

« Filtration / O

18) The pressure acting on a given area is 125N/m2.If the force applied is 2500N then the area on which
the force applied is : /

mgmwaawmmmwmz@ Tfe ST T S 2500N @ o & O IR S I Tar @
dg ©:



1. 200m? / 200%12
2.2m? /2 |2
3.20m?2 / 20 H2
4.20cm? / 20 JH2

Correct Answer :-

« 20m2 /20 ®2

19) About 5g of a yellow coloured non-metallic solid (X) is taken and heated. It produces an irritating
smelling gas (Y). The gas (Y) is collected in a Gas jar and is shaken well with a little water when colourless
Sulphurous acid (Z) is formed. What is the solid (X) and the gas (Y)? /

it T & ST ST (X) BT TN 5 91T o sirar 8 $nR 1 favan sirar 81 a8 g9 vie arehl v
(Y) ST BT 81 TR (Y) B U T OIR A Uep fpam S @ SR UTsT Uil STaes e Siran @ a9
T TRRY TRYS () F1 fAafor giar 81 319 (x) Td 9 (v) | 2

1.X = S, &Y =503
2.X = P4&Y = Py0s
3.X = Sg&Y =50,
4.X = S4&Y = SO;3

Correct Answer :-

e X = Sg&Y =S50,

20) Out of the following given materials, which one will you prefer to make the handle of an electric
kettle? /

Frafafaa & 75 gl # 9, emu fFad ve safaee Sl &1 s 9 H1 IR Sl
1. Tungsten / CICA

2. Bakelite / SBASC

3. Copper / PR
4. Aluminium / STy

Correct Answer :-

. Bakelite / Shdgc

21) A weak acid among the following is: /

a4 ue gda s &:
1. Acetic acid / Qﬁl’% 3T

2. Hydrochloric acid / E’E@ﬂﬁ? ST

3. Nitric acid / Tg{¢h ¥



4. Sulphuric acid / SeRI(R e 3T
Correct Answer :-

» Acetic acid / Qﬁﬂ%fﬁ AT

22) Type of the soil is decided by the /

el &1 YoR 9 gr1 a4 fear wiar 8

1. Amount of humus in it / IgH Wlq CARIE

2. Average size of the soil particles / Hal & BN BT 3T ATHR
3. Porosity of the soil. / Hal BT IBUTDHIR

4. Amount of microorganisms in it / 3GH g&HSHal & HAET

Correct Answer :-

« Average size of the soil particles / Hal & HUN BT 3T HR

23) Element ‘P’ has atomic number 19. The incorrect statement among the following is: /
T P’ B URHTY] 1T 19 7 | Fafafed o & Taq sU 8:

1. The valency of the element is 1 / T DI ?I'Cﬁ\_:IWT 1 %I

2. Element ‘P’ is a non-metal. / dcd ‘P’ Udh Hﬂlﬁ%l

3. Element ‘P’ belongs to group I/ dcd 'P' HHg I & 3fifd 3‘|'|?|T%I

4. Element ‘P’ belongs to 4™ period / Icd <P’ Y T P ST AT & |

Correct Answer :-

« Element ‘P’ is a non-metal. / dcd ‘P’ U Hﬂlﬂ%l

24) What is the percentage of Carbon and Lead in Lead pencil, which we use for writing, drawing etc.? /

%agmmmamwm%mwm%mwmmm&mm

1. 50% Carbon & 50% Lead. / 50% W Qa 50% =
2. 100% Carbon & 0% Lead. / 100% Eb—fﬁf:f Ha 0% Qﬂ'Q'ITI
3. 0% Carbon & 100% Lead / 0% CACE Qa 100% 22|
4.75% Carbon & 25% Lead. / 75% T Td 25% 2|

Correct Answer :-

e 100% Carbon & 0% Lead. / 100% Eb—ﬁf:fl{a 0% 2=ATI

25) Which one of the following factors affects the quality of honey produced? /

fFafafaa 9 3 fra oR® I g & Jora yuifad gidt 32



1. Number of worker bees which collect the nectar / T8 ST HPIG FHG] R T Holgl Hgtﬂ%ﬂﬁ DI GAT
2. None of the above / STRIGI & ¥ ﬁ's‘ T8l

3. Queen bee and Drones / I HW R TR I[?;Fla@
4. Flowers available to the bees for nectar / HW CRCA %@ U Y UR

Correct Answer :-

« Flowers available to the bees for nectar / HW & HPG %ﬂ SUd Y WX
26) Which physical quantity has the unit N/kg? /

o wiifore T 1 31 Nikg 82

1. Velocity / a7

2. Acceleration / @RU

3. Speed / dTel

4. Force / dc1

Correct Answer :-

« Acceleration / @RI

27) Two of the components of ecosystem mentioned below are abiotic. Identify them.
Inorganic nutrients, herbivores, decomposers, climatic factors, forests /

T Sfcafaa uitfRufaet o3 & &t ues sreitdid §1 3% ugda-ig
319 UV dd, MBI, HTIeHRI, TAaradl HRS, a1

1. Inorganic nutrients and forests / 3{oId TN dd 3R I

2. Decomposers and climatic factors / AYICHRY 3R TAArIdt HRE

3. Decomposers and inorganic nutrients / YgEHRT 3R 3oid UNH dd

4. Climatic factors and inorganic nutrients / SarId! PR 3R 36id TN dd

Correct Answer :-

« Climatic factors and inorganic nutrients / SAdRId PR 3R 3fold UNh dd

28) One among the substances given below can easily exist in all the 3 states of matter by varying its
temperature. Identify that substance. /

1 fo e verdf & 3 ve uerd & aruwm= o afe b-aa far o, ot fiA srameii # wRear 9@
T ¥8 9odr 81 39 Uty & ugarH &Y |

1. Table salt. / ITH FHD

2. Diamond. / BRI
3. Helium gas. ) gifera| g



4. Water. / SIcI

Correct Answer :-

o Water. / SId1

29) is used for making the pencil lead. /

IfREdfisTaR s e &3y fFar e gl
1. Graphite / PLAE

2. Diamond/m

3. Silica / TRfeThT

4. Calcium / BIeRITH

Correct Answer :-

o Graphite / a'q7—|3_cr

30) To move an uncharged body from its state of rest , we have to apply : /

fopet srmafRra avg ®1 S form Ft fRufa | e & forg, g9 = gm:

1. A balanced external force / Ueb Hdfeid a1l §a
2. An unbalanced electrostatic force / Tah 3R fRR 3ggd §d

3. An unbalanced external force / Th &m'gﬁﬁ EIBEG
4. A balanced frictional force / T Tferd a¥ur

Correct Answer :-

« An unbalanced external force / T 3iqferd aTgl S

31) During the extraction of Iron from Haematite, which substance acts as Flux in the Blast furnace, which removes
the acidic Silica contaminating the Ore particles? /

FHTETSE & 9 & B yur & SR, B A1 e se B4 § 3[R HUN &1 givd He- aral ity fRafereT ot
T 9T W & U | $1I Rl 82

1. P,O5
2.C.

3. CaCl,
4. CaO

Correct Answer :-

« CaO

32) National Science Day is celebrated on in India. / HIRd s | ?T@'q ﬁil'F‘l'
feaw S AT STdT B



1. February 28 /28 HIaR!
2.May1/1¥8

3.June 5/ 59T

4 March?7 /7 A

Correct Answer :-

. February 28 /28 TRaR]

33) Evaluation is a ./ P Uh 2l

1. process unrelated to instructional objectives / &Iﬂa'QTW B%’Q'CI-T és ﬁm K CIRRRYER]
2. continuous process / Hdd ufeean

3. Non-quantitative process / RIS Ufeha

4. Non-qualitative process / ﬁ?—w ufoear

Correct Answer :-

. continuous process / Hdd yfdhar

34) The educational programs of NCERT are telecasted on: / Q’-'-l'?ﬂééﬂ??ﬁ & %&rﬁw
STdHH! B W g faar Sirar |

1. Gyan Darshan channel / T4 GQi;I SEIY

2. Doordarshan National channel / cc'dd-?f"l EREREEC
3. Doordarshan Bharti / §€33i:| YRl
4. eGyankosh / EC—WN

Correct Answer :-

+ Gyan Darshan channel / 3T _C{Tlf:l SEIY

35) Which of the following statements is not true for a constructivist teacher? / frafeafea

A | B I HY, TP IgA1a1d! Rrere & forg It 181 82
1. His/her students work mainly in groups / 3% BT I = 3 ?I'H\_Eﬁ T ®Td Hd %I
2. His/her role is rooted in negotiation. / REA| H&IW ArdyTg § |3||%(_‘I %I

3. He/she assesses the students through testing by checking for correct responses. / dg gl

gfaferaraf & o S & URI&01 & ATeOH ¥ ST &1 3 HRd ¢ |
4. He/she values the interest of students. / @ SE&H %ﬂ Cal Hed aﬁ %I

Correct Answer :-



« He/she assesses the students through testing by checking for correct responses. / dg gl

yfafsraraii & foru Sirg B 10T & A1enH I ST BT Hiheld Hd o

36) “Assessment of learning” does not include: / " 3(fRTH &7 3fiwa-" fA= H e A8t

e

1. Evidence based assessment/ T1&F TR il
2. Criteria based assessment/ AMGS STUTRA e
3. Assessment of outcomes / TRUITH] T 3ffcher

4. Mapping students’ progress/ EIRICENEIEIEARCHIR]

Correct Answer :-

- Mapping students’ progress/ AR ST &1 Uil

37) Which of the following statements is false about the collaborative learning

approach? / fFgfefEd & @ &9 91 $Y= Igamds AR e¥HIr & IR & Tad 82
1. Social skills of learner are developed. /ﬁT&ﬂ%ﬁW AT Obal-‘llﬂ ICEAR Eﬁ?ﬂ %I

2. Emotional skills of learner are developed. /ﬁT&ﬂ%ﬁW HIdATHD OI’?IQIQ'I, ICEAR Eh?lT %I

3. Every student participates pro-actively in the task. / [ RIERCE ok U;\Pf TihadT ¥ U Al

&
4. Dominance of the teacher is reduced. / 1&/% BT UHIG HH E?r STl %I

Correct Answer :-

- Every student participates pro-actively in the task. / S[OILC7 S, b pE| q\ﬁ FihadT I HIT Tl

gl

38) One of the following statements is true for the process of Roasting carried out during the
extraction of metals from their ores. Identify the true statement. /

frafafed & & e sy e @ urgai & fAreetur & SR fre e yofq 91 uftear & forg €t 21
39 I FYT B Uga™ |

1. Roasting is used for Carbonate ores. / 'J-I\_I[:T Gl G'CITﬁTI W_Gﬁ?{?f 3'[&'{373[ & ﬁ«m fopar ST %I

2. Roasting is not used for Sulphide ores. / H\_STT-T Gl B'CI'CnT[ Jehlgs 3TLHI & 1%111 HEQT%CIT SIldTl %I
3. The ore is heated in the presence of air. / 3{g¥h Gl edl CARRLIEII ] | Tlﬁﬁ‘ﬂ:ﬂ STdTl %I

4. The ore is heated in the absence of air. / 3% Bl Bdl 3| G‘IHQ@‘IﬁT o 77 far ST %I

Correct Answer :-

« The ore is heated in the presence of air. / 3%F B! gaT ! U & 7 fHar ST B |



39) If the speed of sound is 340 m/s and the echo is returned in 3.5s, then the distance of the
reflecting rock from the sound source is: /

tri%wwﬁr;ﬂwﬁrsmlﬂa/ﬁ%%aﬁ?&sﬁ%ﬁwﬁrwﬁmmﬁ%a‘rwﬁ@aaﬁuﬁrwﬁamﬁmﬁ
TEE P gl e

1. 595m / 595 HIeX
2.1190m / 1190 Hex
3.170m / 17041eR
4. 955m /955 Hicx

Correct Answer :-

+ 595m /595 HicX

40) The unit “hertz” is the SI unit of the physical quantity: /
e T | 9 fohw ifaes amn a9t ame (Taens) @S §:
1. Sound / &

2. Frequency / &n?gﬁ
3. Period / 3{afY

4. Amplitude / 3TITH

Correct Answer :-

o Frequency / &n?gﬁ

41) A train decreases its speed from 144 km/h to 72 km/h in 4s. The acceleration of the train is: /

TS 3 3T 919 4 Adbs | 144 fFft/ger @ 72 /et a w0 Hd 8, S BT @01 3:-
1.-5m/s?

2.5 m/s?

3. 10m/s?

4. -10m/s?

Correct Answer :-

42) A ray of light is incident on the glass slab at an angle of incidence 30°, the angle of emergence will
be:/

THT Bt T fhor M F1 T U} uR 30° & ATYA HIvT W ATl Siel 8, DT 3gH fig o1 S ghm:
1. 60°
2. 45°

3.30°



4. 15°

Correct Answer :-
« 30°

43) The interval between the melting point of ice and the boiling point of water in Celsius scale is divided into: /
AR W & u & YA 3R 6 F ToAie P S Sfavra 9d fauTfer giar g:

1. 180 equal parts / 180 SRTaR et

2. 273 equal parts / 273 R et

3. 100 equal parts / 100 CRERRESS]|

4. 120 equal parts / 120 TR gt

Correct Answer :-

« 100 equal parts / 100 SRR fe<l

44) Use of agriculture farming system,with minimum or no use of chemicals,use of maximum input of
manure,farmwastes and bioagents is known as /

ATH a1 f3 1 T & TART Bt HY Yorelt &1 I, Wie & Afwad A, i Oy iR 9id $RE B
SUIRT HEdTdl §

1. Genetic manipulation. / W%Ta?_{
2. Organic farming. /@a’?ﬁf

3. Biofertilizer farming. / W?ﬁ

4. Biochemical farming. / SaRE™AMN® HY

Correct Answer :-

« Organic farming. /ﬁa@lﬁ

45) CANCELLED

We feel more comfortable in light coloured cloths in summer than dark coloured cloths because: /

i § geb W1 F BUST # g IRIP ARSHS HEH Hd & FIfeb Mg W & $US &

1. Light coloured cloths absorbs more heat radiation/%@? cu| %?ﬂ%’, 3fYep 3o fafHvur o a=nftd Hd
gl

2. Light coloured cloths absorbs less heat radiation / Scab [P ohu%, HH S fafesur B amﬁf@mmﬁ%

3. Dark coloured cloths radiate more heat radiation /TIE%QT[%EFCI@ WWW, ﬁﬁ?‘ﬁﬂﬁﬁ%l

4. Light coloured cloths absorbs more moisture / 8eb 1T & HUS 3P TH! BT TN B B

Correct Answer :-

« Light coloured cloths absorbs less heat radiation / 6«&0 ruk: ¢M$, 1 3 fafevor &t WW%I



46) CANCELLED

What will happen if a small sheet of paper is tightly wound over at one end of a long iron rod and the same
end is placed over a candle flame? /

T NI 3R BRTS B TP BI] ATEY, TP od Al B B8 & UP BIR TR AP 1Y &I STl & 3
I B & GO BR W TH HHExI B & B TeATh 6T o1l 82

1. Only some portions of the paper will burn off. /
Had BRIl & S g8 oI SaT |

2. The paper will not burn off since iron is a good conductor. /
BTGl Ta] ST iy SR U 3] [aHag® ¢

3. The paper will burn off since it is an insulator. /
BT STl QT T I8 faHaes g

4, The flame of the candle will put off. /

e Bl g3 Se |

Correct Answer :-

« The paper will not burn off since iron is a good conductor. /

PHHTST el ST s 3R U 3131 fades g

47) CANCELLED

Which group of organisms are not constituents of a food chain ?/
Sital &1 B I TG W &A1 & UTH -8l 82

1. Frog, snake, grass, eagle, grass hopper / ﬁ'aa?, ?ﬁlq, Uy, %ﬁa, 1%51
2. Lion, rabbit, grass, wolf/ '-‘?R’, W’h‘-ﬂ, Y, ﬂ%m

3. Snake, grass, wolf, tiger / 91U, T, ﬂ'%’cﬂ, oY

4. Man, plankton, fish, grass hopper / HI1d, Widd, J-I'&S’Q1ﬂ|, IE§|

Correct Answer :-

« Snake, grass, wolf, tiger / ﬂTq, Uy, ﬂﬁf’:’zﬂ, S113

48) CANCELLED

.1 TSR T # T 9 et &1

Liquids in spherical containers should be placed

@1 ST 918 e

1. near a water source in the lab / TIWTRITAT § UHT & Uh Iid & U
2. near the window / m & g

3.in dark / S8R H




4.in open shelves / '@Fﬁ JETl |

Correct Answer :-

. in dark / 3R H

49) CANCELLED

Aforce of 10N is acting on the body and the body displaces through 5m normal to the direction

of application of the force as shown in the given figure. Find the work done. /

10N &7 Us o1, Ush e X FRRA § 3R a9 Bv a7v &7 & 3608R, 9 & e gl & Gan
A 5 Ml AT T § faenfia giar 81 fohdem St gam Ard #

l F=10N

I

5=5m
1. -50J
2.25)
3.501

4.0J

Correct Answer :-

50) Combustible materials can be disposed off through / T:{E""I'-‘Iﬂ?l uazfm%mmﬁ fAraerd s
Hd §

1. Composting / BT
2. Recycling / ARAh U
3. Dumping / gfAgqu

4, Incineration / HEHIOT

Correct Answer :-

« Incineration / HEHIT

51) The anhydride of H3PO4 is: /
H3PO,; T TTEIRSISS o

1. PCl,



2. PCl;

3. PH;

4, P,O5

Correct Answer :-

52) Among the following ecosystems, man made ecosystem is /
frafafaa uftfufas @& § 9, ara fAffa uifRufaes @ &:

1. Garden / &t

2. Ponds / dIdild

3. Forests / SiTel
4. Lakes / 3@

Correct Answer :-

« Garden / ST

53) Vibro-tactile aids are used for students. / fas)-¢aeTSd Heg BT ITANT
oEl & fore far smar g1

1. mentally ill / RIS ¥U 9 R
2. dumb / 7T
3. deaf / IBX

4. blind / 3

Correct Answer :-

. deaf/a—eﬁ

54) The statement “the electrical resistance of a metal increases with temperature” is a: /

FY: “UTg BT fagya ufaRIY, AT9HT= & A1y 981 317 TP gl
1. Concept / HJYURUI

2. Theory / Rrgid

3. Principle / fAom

4. Hypothesis / gReegT

Correct Answer :-

. Principle / FIH




55) Herbarium is a dry preservation of . ] gaRaH BT TP [Ch A&0T B

1. fishes / ASferal

2. bird feathers / G&fl & Ul
3. herbs / \_Fﬁ:-pf i@tﬁ

4, plants / tﬁ@[

Correct Answer :-

. plants / tﬁ‘iﬁ

56) Which one of the following is not an advantage of the Heuristic method of teaching? /

fFrafafaa & @ #1 Rieor 91 ggRies &t «1 e @y 78 32

1. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / U

oot UfhdT 81F & ATd, T8 Ueh [MYd 0 sfafe & fRuia uredsd &1 IR & | Jgrd]
IR DA G|

2. It helps in developing creativity in the learners /g Rrenfial o e faw i o= o
GG P &

3. The students develop the power of observation. / SHEI H g P! lad [dHRIA il %I

4. Self-activity is used for gaining knowledge. / T UItd A o forw W-rfafafy &1 3uanT
ERISISIG]

Correct Answer :-

. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Udh

oot UfordT 811 & A1d, T8 U (a0 3afyy & Feiia uredashd &1 {1 - | wgradr
GG

57) Which of the following types of question should be used by a science teacher to assess
the ability of a student to summarize and integrate the ideas? / T A g TeR &
UY BT IUANT, T Ay Rier gRT RY B YaY 3% TPipd H 8d TP BT B &l B
3ipad $31 & fore far s anfee?

1. Selection type objective question / I Gl aﬁﬁg U4
2. Supply type objective question / &Tq:% Gl Wﬁfg UH
3. Short answer type question / ¢y 31X CINECE)
4. Long answer type question / &Y IR are Uy

Correct Answer :-

- Long answer type question / 3 SR AT Uy

58) Which of the following is a biotic factor?/



fFrafetad & 4 #1991 sifde aR® 82
1. Microbes /W

2. water / SIdl

3. Soil / Tt
4, Air /d1g

Correct Answer :-

o Microbes / 3 U]

59) Perseverance is an attribute that: / €¢dl Tdh fauar g =i:
1. Allows repeated opportunities for success / Hh cdl & OTE IR-GR 3R <ol %l
2. Gives success in single attempt / T é’f TN § g dd] a?ﬁ % |

3. Leads to continuous success / RO gwadl &t @Tﬁﬁﬁ%l

4. Makes one narrow minded towards work / PTH & Ufd b ivl g Afea sl % |

Correct Answer :-

. Allows repeated opportunities for success / Hh cdl & o IR-ER 3faR <l %I

60) Which of the following is NOT true of performance-based assessments? / fafafeada

P USHH- MR TP P TA 1 872

1. It measures students ability to apply the knowledge learnt / g BE gRIUNG T IH Dl @ ]
PR D & BT AU G|

2. It is simple and non-authentic / g XA @T 13|T-1;|'1:|Tiﬁ|$ %I

3. It is open-ended and time-bound / g QFIT-GH (W—QQS) 3ﬁT JHY-d& %I
4.1t is process/product oriented/ g Ufhar / Idie 3HY % |

Correct Answer :-

. It is simple and non-authentic / g AT 3?|T 13|T-1;|'1:|Tiﬁﬁ %I



